Description

Measurement

Part List and Assembling Instruction

Quantity

nOturQ® Wooden Cat Home

#01-44093

Screw the two steps (8) to the holder (9). Then fix them
to the left side panel (3).

wall (2) to the left
side panel (3).

ax(A)

1 Front part 450 x 650 x 30 mm 1 44093-10
2 Back wall 450 x 650 x 30 mm 1 44093-20
3 Side panel, left l 390 x 600 x 20 mm 1 44093-30
4 Side panel, right ﬂﬁ 390 x 565 x 20 mm 1 44093-40
5 Lower floor part, left % 1| 411 x 205 x 25 mm 1 44093-50
6 Lower floor part, right % 411 x 216 x 25 mm 1 44093-60
7 Upper floor part @ 411 x 411 x 25 mm 1 44093-70
8 Steps g 200 x 100 x 35 mm 2 44093-80
9 Holder for steps 4‘] 80 x 80 x15mm 2 44093-81
Pos. Description Size Quantity Item

A Thread screw with nut M6 x 30 mm 8+1
B Countersunk screw mnmnmm:ﬂ 2 3.5x45mm 3+1

44093-90
C | Countersunk screw e @3 x28mm 4+1
D Countersunk screw «Wﬂ 23 x23mm 6+1

For a better stability of
the railing add some
screws.

3x(B)

&Y Made in China
Fabriqué en Chine
& Hecho en China

121022

Insert the two lower floor
parts (5/6).

Finally insert the upper
floor (7).

TRIXIE Pet Products, Inc. - P.O. Box 101196 - Ft. Worth, TX 76185 - www.trixiepet.com

71682




